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ŠCÙZð±
]Ò54øGE)ŠzuZß( ‰×nf‹V ª¶ÔŠzuZßÔÙŠy

(1 × 5) = 5 (»¶KyÎNX � Šg`fs~ÐŠg„�Z[6,) :1 ÎZw�
»ŠZgzæZg¦V6,ìX _________ "— (i)

ZZy (d) Zsx (c) Zqw (b) D (a)

»xœ‘ìX  __________ CÙ (ii)
(,Z (d) gN* (c) ( (b) ZY (a)

ñð»ÏgìX __________ (iii)
gzi{ (d) ŒZg (c) ™¬ (b) „Š] (a)

Â©¾i!*y»Âì? (iv)
-**ã (d) QgŠz (c) ÃgÏ (b) ²! (a)

ìX __________ ‚g}˜âV6,QÏÅ (v)
Óx (d) ¤‰Ü (c) Šg] (b) Ó#Ö (a)

(1 × 5) = 5 oƒZÖpÅæŠÐ{à(6,™,X :2 ÎZw�
gÔaÔœ‘Ô¦VÔCÙq

ìX _________ CÙ(»x (i)
Ãp[Y+zZÑìX _________ ]Ö×#ä "— (ii)
ìX _________ Š¬„]» (iii)

6,ìX _________ "—Zqw»ŠZgzæZg (iv)
â_gƒX __________ ÐZk» ]Ö×#ä (v)

(2 × 5) = 10 Šg`fsÎZÑ]Æ¿�Z[KX :3 ÎZw�
ug$Æ_.4¿Ãyì? (i)
o}ÐH%ZŠì? (ii)
Â©»|xKX (iii)
i}W�yZzgZkÅCÙq¾ä¯ðì? (iv)
Šg`fsug$»F,ÀKX

ÒöØ%ÚøÃû†öæûÍõ‘ø‚øÎøèº
(2 × 2.5) = 5 Šg`fsÆ,Ð�Z[KX :4 ÎZw�

3**3äÐ¬Å™¬Zzg3**3äÆÅ̂Š¬»F,ÀKX (i)
¬\øgZ{Ûzâ´ì,ÐÒy™,X ]Ö×#ä (ii)
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